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Sum and Difference Identities (6.1-book, 6.2-handout)

sia(a+b) £ sina+sinb

s:n(o«-rlo) = Sino. Cosb +Coso. sin b

sio(@-b)= sina.cosb - cosa. sials

cos(at+h) = cosacosb — sinasink

Cos(a-tb: Cosacosb + sinas ink ta L

'{:Gn(a‘l'b): ‘l:_anaﬁ'l.'aﬂlo Aan a-b 2{0«(\0\— “
[~tangtanks t ( ) [+ Tanatork

(0.2 handout

2. sin315°= 510(550°+ +55 =
= 5in320 cos45° + 03330 sind5°:
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0. cos(=—-TC)= cosocosZ +sint
.054_ = 051_035\030—

ZE:;‘s- , =(f?- \Ii)(()
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4. sin @ocospjr- CoS @OSNQEO

= sio (163 10'-7)-_ sinlO°=[3
2

20. SinX COSIX + CoSX SiNAX
= Sin (x*3x)

=‘sin‘|'x|
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3¢, Given sine: 2, weQIC
COSF = "_; ’ PGQII-

Fiod sin(u-p) cos(et-p),tant-p) %
determine 4he quadrant in which o-g lies.

sn(ot- )-sm ~0oSocSi
(e -(_g_)c‘!-),( X—s) g\_‘

03@-p) = cosxcos 5+3!n°¢$l nf

(25)(‘5

'l:an@l‘f) e G = ,&.@:E
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40. Given cosk= '3; , REQIT
S0p=2t, pe QI

find Sn@Etp) COS(OH'F) ton(otp) , &
determine -meqmar i which d+p (ies.

sm.@up) sm(c Y &)
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Xa
a+ 23

5%. -5«.-3«0 - (4L

IR
tan(eet f)= S0EtE) _
Cos(«-l- f) n | "
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(0.2 handout

homewoark_ :
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On Mondaj , Quiz on Jertihies

L HW Check (| # -6,
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